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1- 1. How many grams each of sodium chloride and dextrose are present in a
1000- mL IV bag of 0.18% sodium chloride and 4% dextrose?
.0 1.8 =1000 x 0.18/100 = Nacl <l e 2xe
. g40 = 1000 x 4/100 = 35S el 2 2ac

2- Calculate the daily infusion volume of D10W to be administered to a
newborn weighing 4 Ib. on the basis of 60 mL/kg/day. Then how many
milligrams of dextrose delivered to the patient.

kgl.81 =4/2.2 = b= xl 0

ml / day108.6 =60 x1.81 = asll 4 pudi aal Il anall
D3 S30 g 10 g5t 5 S Jslae Ja 100 S

DS g X sin g S Jlae e 108.6

e (8 el Jaany 5550 X =10.86 g

3- (a) Calculate the daily infusion volume of D10W to be administered to a
neonate weighing 4 Ib. on the basis of 60 mL/kg/day.
(b) Using an administration set that delivers 60 drops/mL at 20 drops per

minute, calculate the total time for the above infusion.

kg 1.81 = 4/2.2 = Jikll ¢35 (A
.ml/day 108.6 = 60 x1.81 = dua sl o) sall e ja

el i/ il A ol = Bl 05301 e yal) o el 3301 a3 (B
5.43 h=min 325.8 =20 +( 60 x 108.6 ) =



4- Gentamicin sulfate, 2.5 mg/kg, is prescribed for a 1.5-kg neonate. Calculate
(a) the dose of the drug, and (b) when the drug is placed in a 50-mL IV bag,
the flow rate, in mL/minute, if the infusion is to run for 30 minutes.

.mg3.75=25x15=¢lslldc » (A
ml/min 1.66 = 30 + 50 = < usill (0§ + S aaall = il Ja=a (B

5- A physician orders a 2-g vial of a drug to be added to 500 mL of D5W. If the
administration rate is 125 mL per hour, how many milligrams of the drug
will a patient receive per minute?

o delu 1 Gl ZzUa3 Jslaall e ml 125 ISl sall ol 33U (e )
Aclu X zliad Jsladl e ml 500 Js
min 240 =60 x 4 =h 4 =500/125= X
ml/ min 2.1 =240 + 500 = il (o) + S aaall = il Jane Gl
A 5333k Mg 2000 (s siss J staall e M 500 S
A0l gasale g X s iad Jolaall aml 2.1 JS
a5 488y IR (s yall el ) 400 sall salall il je e 232 mg 8.4 = X

: diluted solutiondadasd) Jullaall 3 stock solution 38 all Jullaad)

Akl 3 5 g salal) AaaS (5 Al Y

(e psaa Baa) g Gania Balal) AnaS o Balall S 5 et o slaall (e (ama pas ania Bale eSS
Jstadl

L) 5 ¢ Jslaall 138 daad die 5B Y J daall QoS Cpaa salall duas o)) Tase e adiay paadll ) 4l
Jslaall 138 35 sa Calisy ()

Ll Ju8 3alall AeS = paadl) den 3alall e : 4da g



cv=C.Vv
S e saal s sl el LSy s
il J8 Jslaall Gaia 3alall 38 5i=C
Al azy Jslaall Gaa salall 38 5= C
Al Ji Jladl aan =V

Al any J glaall aas = V7

rlpdas

1- 1f 500 mL of a 15% v/v solution are diluted to 1500 mL, what will be the
percentage (v/v)?
waall Jd - paaill ey rpaadl) ) 58
cv=c.v
%15 x 500 =c¢" x 1500
%5=c

2- 1f 50 mL of a 1:20 w/v solution are diluted to 1000 mL, what is the ratio
strength?
cv=c.v
0.05 x50 =c . 1000
0.0025 =C
1/x =0.0025 — x= 400
C =1:400



3- If a syrup containing 65% wi/v of sucrose is evaporated to 85% of its

volume, what percentage (w/v) of sucrose will it contain?

cCV=cCc.Vv
65% x 100 =c" . 85
76.47% =C°

4- How many grams of 10% w/w ammonia solution can be made from 1800
g of 28% wi/w strong ammonia solution?
il ax = aaaill S8
g x 10 /100 = 28/100 x 1800
g =5040 g Jsl=s

5- How many milliliters of a 1:400 stock solution should be used to make 4
liters of a 1:2000 solution?
s il 58
cCVv=cC.v
0.0025 x V = 0.0005x 4000
ml 800 =V

6- How much water should be mixed with 5000 mL of 85% v/v alcohol to
make 50% v/v alcohol?
D il o5
cCV=cC.v
85%x 5000 = 50%x V
ml 8500 =V
ml 3500 = 5000 — 8500 438lia) o U clall aas



7- How many grams of 20% benzocaine ointment and how many grams of
ointment base (diluent) should be used in preparing 5 Ib. of 2.5%
benzocaine ointment?
5Ib=5x454=2270¢

el ey IS 5 il 4paS = el 8 olS 5 jull daes
2270 x %2.5 = %20 x ¢
g=283.750 paall e
1986.25 g ot sall (a1 ) dlaal Lgiilal conl sl (ot yall (el ) il ) 408

8- How many milliliters of water should be added to a pint of a 5% w/v

solution to make a 2% wi/v solution?
Pint =473 ml

paal) o8

cv=c.v

5% x473=2%xV
V =1182.5ml
ml 709.5 =473 — 1182.5 L) caal sl slall laaa

9- If 150 mL of a 17% (w/v) concentrate of benzalkonium chloride are
diluted to 5 liter, what will be the ratio strength (w/v) of the dilution?

CV=C.V il gl

17% x 150 = C" x 5000

paaill azy Jladll 58 5 CT = 0.51%

g 0.51 siny dstae Ja 100 IS

glesisndssada X K

X =100+0.51=196 ml

il asy Jlase 38 551:196



